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1. (20%) Solve the ODE y” 4y + 4y = ¢ with y(O) 0 and y(O) 0.

‘ 2 (20%) The lme 1ntegral L3x2>ix ‘__} dy L y?dz is path mdependent find

the value of the 1ntegral for a I‘Jjj}fo ,1,2) to B(1,-1 7)

3. (20%) Find the eigenvalﬁeé and elgenvectors of the foIIowing matrix:

2 0.0 0].
11100
12 030
11 4 2 1

4, (20%) Find the Fourier serie ”"ffﬁc’ '

Kk zf 3<x<0

Jx)=1

i . Jx) f(x+6)
gf 0<x<3 : -

—

Ou = fete u = u(x, f) for 0=<x <[ and tzﬁ,

5. (20%) Solve the PDE _=7(—fw—,—
o~ [

with the boundary conditions __gd,t)

ul, )=0 and the mltlal condltlons
u(x,0)= SlIl(fDC/L) : . o

2% B




